m{E 28 —4B BERUHEHER

#il A B ( ) B Mat = i
9:00 1B & E R 2 - 4| AdiiidAFCB 184 Er

= 11:15 ¥ ) ch 5 - 1 |&XLTFCLEIRB 184 Eeh

1148298 (&)

4] 9:00 7HY)—fREB |0 - 1 fRE A EEH %G
11:15 F-¥ N2 1 - 4 R S %G
9:00 184 K 10 - 1 BAH )1 e

% 11:15 NS 6 - 0| 7¥Y—=8RMEB #)11eh

2| sA38 (W

& 9:00 AdiiidAFCB | 2 - 3 |¥A&RILFEFCLE{FIRB B8R FEh
11:15 #5 A 7 & 2 - 3 R 8 FA 75 o
9:00 ghr 1 -9 W ]

) 11:15 Adii iidA FC B 0 -3 &AKe NG

3 5878 ()

] 9:00 |#WALFEFCEEHB|10 — 0 fREF £ F 75 o
11:15 FHY—fAB [0 - 6 84 B SR AT
13:30 |[#MA&LFEFCEEHB| 0 — 2 B4y R B4 B

oy 15:45 Adii iidA FC B 6 - 4 2ho 184 Erp

4158148 ()

4] 13:30 At 3 - 2| 7Y¥U—8REB BAH
15:45 fREA TR 0 - 10 ) BAH
9:00 =¥ N 1 - 1 AR B 7 £ A 78 o

= 11:15 PHY—EEEB | 1 - 3| Adii iidA FCB 87 A7

5|58218 (%)

il 9:00 BRth 7 - 6 |#FILFEFCLE{FIRB ERERERG
11:15 JB & FE R 1 - 3 ) = RHEG
9:00 |#&LLHEFCLFHB - 7Y 1)—fREB )11k

% 11:15 &Rt = i )11

6| 6B4R (1)

L 9:00 SRt - B4 B £ F 75 o
11:15 | Adii iidA FC B - £k A7 87 A 7
9:00 B4 B - fRE T 1By R

= 11:15 7Y —$REB - 2 B4 b

7] 7898 (1)

L 9:00 E=F N - AL FEFC L (R ARB #wilch
11:15 #)ilch - Adii iidA FC B Wil




m{E 280 —4B HERUHEHER

#il A B ( ) B RS Het = i
9:00 2R - Adii iidA FC B EEH %G
= 11:15 74—t EB - AR EESG
8|7AHA23H8 (%)
& 9:00 #)ilh - tREFEH 18 4 F b
11:15 84 R = WA ILFEFC L FAB 184 Eh
9:00 |#A&LUHEFCLFIB - W B4 B
88288 (H)
= 11:15 Adii iidA FC B - 1B 4 E 184 Erh
9
4] 9:00 ZRth - AR £ FE 75 oh
9B48 (A)
11:15 fR AT - 7Y1)—fRHEB SR
9:00 7Y —fiRHEB - i 1
|eA108 (1)
T 11:15 |#KLI#EFCEFTB - Adii iidA FC B #)1] eh
i 9:00 2R - R A BAH
9B118 (A)
11:15 ARt - 1B 4 B h BAH
9:00 &Arh - Adii iidA FC B B8R 7G
N 9H238 (&)
T 11:15 fREA T h - WA ILHEFCLE {RIRB A TS
]
& 9:00 B4 - 7Y 1) —fREB Wil
98248 (1)
11:15 Wlich - ghgth )1
9:00 | Adii iidA FC B - 79 1)—fRHEB BA
'?‘f 11:15 £R A 75 b - &K BAh
,|10R28 (1)
& 9:00 e - B4 B 18 4 Feh
11:15  [#2&KLUHEFC_EFARB - 2/t B4 B
9:00 LA - &R e
’é’f 11:15 | 741—8RMEB - AL JEFC_E F3RB NI
3 10A8H (%)
i 9:00 fR AT - Adii iidA FC B 184
11:15 JB & FE R - R B4 Eeh
9:00 | Adii iidA FC B - NI A
iﬁ 11:15 |#&LHEFC LB - BHAH BAh
4 10A10H (A)
& 9:00 ERrH - 7H1) —fREB 2 EHEG
11:15 fRETEG = B & EFh 2EMEG




